’?ﬁﬁﬁljﬂﬂ%‘f\% 55 8 5‘* | e TS .«Ewmﬁ http://www.topmath.org T B [E T

o o

SV - e AUAREE D - VLA VR v
2-2 -] F—ij%ﬂ"‘l‘ﬂjq%ﬁm/ A4(=2,3) D (4,3)
( L T [[Fﬂi, D43 ABCD KLY » 1 A Bl (—2,3) 0 BB

(— 2 ,—3) D%!r_ ey (4,3) Ellﬁf[JD“w[m_rElHl’|H:§§t'r@h§\BCﬁﬁﬁEﬂ‘? 0 x

(A)y—3=0 (B)y+3=0 (O)x—1=0 (D)x—4=0 (90 FLy[ 1577 &)

B(—2,—3) ¢

()2 =1Hlab>0 - MBI R xtay=b (IR ?

(A) (B) ©) (D) (90 KLFIT 27 16§ )

= L]
|

( )3 - fﬁfgm e Db R TS R L L 4 PR e SR IR Hﬁtx CED FIIRI P
SYEVE] B By ET ERE 0 FT%’L"S‘[W[JA By -6 2 E ’FJ[FJ,I 10 TEEC
%ﬁ%m: TR AP A~ B~ C = BT RRAELE s [lx=?

(A)3 (B) 6 (Q? D) 12 [90 T 2720 g )

SR SO [ Y 4 RIS S B

VRl EEARL B R y=xt b pUITY o !
L[';Ilﬁ[ggngx\yH;E[E?A‘Bﬁxj%ﬁo ‘ L
o Ja = °
e
(A AL SIS b O LT EAL S UPE 7 (90 ST 5529 )
(A) (B) (®) (D)

y y y

y
/0} X 0'/ X #0 X ‘ﬁ X
()5, REPIRLy B AT y= 20426 O = oy C\Dﬁq%ﬁ; H L Fx ~ y TS A OAB

EUHEL T 4 Lo Flx -y SR S AOCD iR % b 4§t 2
(A)7  (B)14  (0)21 (D) 28 (90 £LY 11 5730 fE )

()6 F LA P POAER = AL, y=2x—4~ Lyt x=3~ Ly * ax+2y=16 F|4L[fl
Ul a=?

@2 B3 (©)4 (D)5 (O1FLHEIT 27 7§ ) ~ %
()79 llﬁ[ R *ﬁj PI > @H@\L FUHFES Ax+-3y=12> O 1} Flg’!—’ X ‘yHIE[F[UqﬁFf L:dx+3y=12

m“ﬁgratr, 12053 « % 4 @f‘iﬂ[’“‘%&ﬁi”“‘ L Sy QHIAVEEEERT, 24 20 5T 0 I A BEEE x qlipv e
RERD 2 0 55 ?

(A) 15 (B) 18 D)32 (C)28 (92 LI T 2725 j§ ) ¢

Y

(8 Y RSt L p A G x+y—3 =0 G P~ O~ R~ SPURATI S P (R e K
Jﬁi#ﬂ%ﬂﬁmﬁ? (92 FLEI 1T 5‘?4?1 %ﬁ Eﬁ T B
AP B)O (OR (D)S i



’?ﬁﬁﬁliﬂﬂéﬁf@ 7’}5'“ | T "ﬁﬁqﬁ http://www.topmath.org Tk P B /A
()9 It [E;ﬂ[ P ALy > Lo~ Ly S IRV WA y=xta s y=—x+b -~ y= cFlJ[f;ﬂ[W | y

Jfﬁ%a b~ R FIJ&SC}:.IH:H FE‘? [93%1(?”11 5?29%] Ly :y=x+a
(A)ya>b>c (B)bla>c CO)b>c>a (D)a>c>b 2 L=
O%i—rw
()10, dfgr ww@p( —4,2) PR 3xtay=4 & [la=? o
(A)—38 (B)_E (C) 4 (D) 8 (94 LRI 232 f )
(UL P AR P b RSLL PR y= —3x+a o F a>0 [ L il 2y guL?
(A)~ (B)= ©)= D)P (95 FLFIT 2716 £ )
(120 T g s - E’!“}ﬂﬂﬁ A 3x—2y= 7FIJ[§WI/ B2 (95 FLFITT 57 3 f )
A) (-3 —8) B)(—1,5) ©((=2,1) D (=2,—-1) y
u Ly
( )13 [ﬂ%ﬂi_[’“@h@\h Ly~ 15~ 14 rii *ﬁ_' l}l [_‘F[J'"f'%' » El HIE - | @[-RE\EH_}U;E = i _‘
y+4 O FuRT > SRR R R 2 (96 FLH T é‘jlzic'gj 0
(A) L] (B) L2 (C) L3 (D) L4 B Ly
L4 y L2
(L. BT T ) 4 (E, 1) B (_5,—4) BERETVRVATEG(E TV e
B - B @IM ﬁﬂ%ﬁﬂ@‘? o
W G- ®(1.2) ©0, ) ©(0,-2) REssEss

()15 Lt b &#‘P (2, 3) [i@h&\L o F Hl@h&\L AUHFEZCES 2x+by=T > i b= ?
(A)1 (B)3 (C)E (D)g (98 FLHIT 27 2§ )

()16, SRR T FEy— Rlrd > TAREG (1,2) %)~ BB & 277 Gl = B REE(x fIfupiss 4
gﬁu x PSRRI ’EIIJEH»'?\AB FH R |p ? (98 LI BT 12 f )
(A)x=1 B)x=2  (C)y=2 (D) x+y=3

( )17 Wf-aré MEIRSLy > Ly~ Ly~ Lo > FURTE = RSSO 130 —25y =62 VR - Jll= A0 ol
T, F (99 LTI 27 11 f )

LI\I
O‘

(AL B)L: (C)Ls (D) Ly

— <
=
&
— <



Rl B RS 55 A

‘if:%EJ%FAT :

1.B
6.C
11.C
16.C

| A OFER SRR http//www.topmath.org TR

2C 3A 4D 5B
7.C 8&A 9A 10D
12A 13.A 14D 15.A
17.D

E3

s

& .
cp -



